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ESN 24 2 3,00
Judgel 550 450 600 750 625 700 675 725 625 675 650 575 Small Synchro Error: 22 2,2 | Penalty
Judge2 525 525 575 575 550 475 525 550 550 575 550 525 Obvious Synchro Error: 4 2,0
Judge3 Major Synchro Error:
Judged No.of swimmers: 6
Judge5 Total penalty| 4,2
Tot DD| 12,200 1,850 | 0,500 | 1,150 | 1,750 [ 1,600 | 0,500 | 1,750 | 1,450 | 1,650
ENN
Judged 450 550 525 575 625 525 550 525 575 600 550 625 Small Synchro Error: 18 1,8 | Penallty
Judge5 550 550 525 650 700 625 600 625 650 600 625 600 Obvious Synchro Error: 4 2,0
Judge6 Major Synchro Error:
Judged No.of swimmers: 10
Judge5 Total penalty| 3,8
Tot DD| 8,385 0,800 | 0,410 | 1,700 | 1,050 | 1,650 | 0,500 | 1,260 [ 0,500 | 0,515
BRASS
Judge7 625 575 625 575 650 675 600 625 750 700 575 625 Small Synchro Error: 23 2,3 | Penallty
Judge8 625 575 600 675 675 650 725 625 775 625 700 650 Obvious Synchro Error: 5} 2,5
Judge9 Major Synchro Error:
Judged No.of swimmers: 10
Judge5 Total penalty| 4,8

Tot DD| 15,500
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DSQ:

Element:| 1 5 |
BM or Zero? | Comb music
71,8500| 6 score: 103,4000
31,5500 x Rank 2
103,4000 now:
Element:[ 1 5] DSQ:
BM or Zero? | Comb music
68,9500| 6 score: 88,2877
19,3377 x Rank 3
88,2877 now:
Element:| 1 5 DSQ:
BM or Zero? X Comb music
12
80,5000| 6 score: 5,6396
45,1396 Rank 1
125,6396 now:




